Quarter 4: Part I Simple Linear Regression
Section 2:  Notes – Constructing the Equation for the Line of Best Fit.


The general form of simple regression line is 
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where b0 is the y-intercept and b1 is the slope.

The formula for slope is 
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 and the formula for the y-intercept is 
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The following example will run through the steps to obtain the slope and intercept without using the CALC:LinReg function in the calculator.

EXAMPLE

The age and salaries of four executives in a business firm are as follows:

	Age (x)
	38
	53
	42
	47

	Salary (y)
	45
	86
	58
	61


It is helpful to find the following in order to find b1 and b0:

The sum of the x values 
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The sum of the y values 
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The average of x values 
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The average of y values 
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The sum of the squared x values 
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The sum of the product of x and y 
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So now: slope = 
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and y intercept = 
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and thus the equation for the line of best fit is:
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